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1) Determinare il dominio delle seguenti funzioni:

=2 —1 22— 3z +2 2T —x+3
5x—2 f2(x)_m2+a:+7’ f3($)—$2_7$+2,

f4($): $2+37 f5($): Vv _21"2_1’ fG(x): \/332—333+1,
fr(z) = V4 — 22, fs(z) =3+ 22 — 22, fo(z) = \/%,

fo(a) = V257 — 4, fi(z) =2V fia(a) = ﬁv
fis(x) =In(7 —2x),  fuu(z) =In@®—-5z+1),  fis(z) =log(l —logz),
fi6(x) = V/5x — 6 +log(6 — x — ), fir(z) =In(3 —z — |z — 2|),
fis) = Vi 13, fol@) =m(VETI-3),  fole) = Vari-va,

rz—1
z+1

fi(z) =

foi(z) =In ( — 2> , Joo(x) =In(x — 4 — Va? —4), foz(x) = arcsen(2z — 1),

foa(z) = arccos(2 + /z), fos(x) = arctg(z? — 4z + 1), fa6(x) = arccos(2senz).

2) Studiare il segno delle seguenti funzioni:

z—5 3
g1(z) =1 — 4z — 222, g2(z) = (x — 4) (22 + 1), g3(z) = %

1
122 — 3]

g7(z) =2z — 1 — |3 + 2z, gs(r) = /5 — 21 — 1, go(x) =3z +1 -2,
gro(r) = vz —1—+/2x -3, gii(z) =va?2—8r+15+2 —z,

1
g12(z) = 3% — 9’

g15(x) = logs(2z — 5), g16(w) = logy jo(4z — 2), g17(z) = log(x — 1) 4+ log(2x + 1).

ga(x) = [a* = 3|(Tx - 2),  gs(x) =3 go(z) =1 — |2 — 1],

qi3(z) =3 +1, gua(z) =1— 2%+,



